NAVSARI AGRICULTURAL UNIVERSITY

Navsari - 396450, Gujarat, India



PROVISIONAL PASSING CERTIFICATE

This is to certify that SOJITRA AJAY MANSHUKHBHAI (Registration No. 5010617005) has passed Bachelor of Science (Honours) Agriculture Examination conducted by the Navsari Agricultural University, Navsari in the month of May.2020-Jul.2020 at COLLEGE OF AGRICULTURE, WAGHAI.

He has passed this examination with an Overall Grade Point Average (O.G.P.A.) 7.38 out of 10.00 (equivalent to 73.80 % marks) during the academic session 2019-2020 and is placed in the First Class

Place : Navsari

Date : 08/07/2020

NAVS ASSISTANCE OF THE PROPERTY OF THE PROPERT

REGISTRAR

<u>N.B.</u>: No change in any entry is to be made except by the authority issued the certificate and that the infringement of the rule will be severely dealt with.

NAVSARI AGRICULTURAL UNIVERSITY

NAVSARI- 396 450, Gujarat, India



17284

STUDENT'S SEMESTER EVALUATION REPORT

Faculty

: AGRICULTURE

Academic year

: 2019-2020

Degree Course

: B.Sc. (Hons.) Agriculture

Semester

: EIGHTH

Name of College

: COLLEGE OF AGRICULTURE, WAGHAI

Examination held in : May 2020-Jul 2020

Full Name of Student : SOJITRA AJAY MANSHUKHBHAI

Registration No. :

: 5010617005

Sr. No.	Course Number	Title of Courses	Credit Hours	Grade Points	Credit Points
1	AG.EXT. 8.6	AGRICULTURAL JOURNALISM	3	8.4	25.2
2	AG.EXT. 8.8	BEHAVIORAL SKILLS	3	9.1	27.3
3	AG.ECON. 8.14	FARM PLANNING AND BUDGETING	3	9.4	28.2
4	AG.ECON. 8.10	FINANCIAL MANAGEMENT OF AGRI-BUSINESS	4	8.7	34.8
5	AG.ECON. 8.8	MANAGEMENT OF AGRO-BASED INDUSTRY	4	9.0	36.0
6	AG.EXT. 8.7	VISUAL AND GRAPHIC COMMUNICATIONS	3	8.6	25.8
		MANAGE CONTROL SCHOOL CHIEFERING TO CONTROL CO	20		177.3
PUCT	CTURAL DWAYERS	V HAR AND THE BUTTON BUTTONEYS AND SAND AND STREET WHILE		G.P.A. :	8.87

	nai	

Summary of Student's Performance						
Year	Semester Credit Credit G. Hours Points		G.P.A.	C.G.P.A. o O.G.P.A.		
1	FIRST	0	0.0	0.00	NER ose	
	SECOND	0	0.0	0.00	-	
11	THIRD	23 + 1	150.8	6.56	6.56	
	FOURTH	21 + 3	146.2	6.96	6.75	
111	FIFTH	23	166.1	7.22	6.91	
MISH.	SIXTH	25	181.7	7.27	7.01	
IV	SEVENTH	3 + 17	26.4	8.80	7.07	
	EIGHTH	20	177.3	8.87	7.38	
RECUL	Total:	115+ 21	848.5		7.38	

Medi	um of Inst	ruction	: ENGLIS	SH
Ab	Absent		T WALL	Repeated
W	Withdrawi	1 NUES	S	Satisfactory
1	Incomplet	е	US	Unsatisfactory
@	Non-Cred	it Course		
0.G.I	P.A.		CLASS	A A SE SELTURAL
7.50	and	Above	First Cl	lass with Distinction
6.50	to	7.49	First C	lass
6.00	to	6.49	Second	d Class
5.50	to	5.99	Pass C	class
5.00	to	5.49	Acader	mic Probation
Less	than	5.00	Fail	
Date	of Result	Declaration	on : 04	W07/2020

DATE: 04/07/2020REPARED BY

CHECKED BY

ASST/ REGISTRAR (ACADEMIC)

: Hirst Class

: 73.80 %

Class

Percentage

REGISTRAR

ANAND AGRICULTURAL UNIVERSITY ANAND - 388110 • GUJARAT • INDIA



This is to certify that

SOJITRA AJAY MANSHUKHBHAI

having completed the prescribed Programme

Diploma in Agriculture at Polytechnic in

Agriculture, Vaso and having earned the

prescribed Credits with 7.24/10.00

(Overall Grade Point Average) with

FIRST CLASS

awarded this Diploma in the month of May/June-2017.

Reg. No. : P.AGRI. V-0160-2014

Place: Anand

Date : 29th July, 2017

REGISTRAR

ANAND AGRICULTURAL UNIVERSITY ANAND 388 110 · GUJARAT · INDIA



STUDENT'S SEMESTER EVALUATION REPORT

Faculty

AGRICULTURE

Name

SOJITRA AJAY MANSHUKHBHAI

Registration No.

P.AGRI.V-0160-2014

Polytechnic

Semester

POLYTECHNIC IN AGRICULTURE, VASO

SIXTH (REGULAR)

Examination held in

MAY/JUNE - 2017

Seat No.

: 14

Diploma

AGRICULTURE

Academic Year

: 2016 - 2017

			Acaden	nic Proba	tion ·	
Sr. No.	Course Title	Course Code	Credit Hours	Grade Points	Credit Points	Remarks
1	SEED PRODUCTION TECHNOLOGY	PBG - 6.4	4	7.7	30.8	
2	PRESERVATION AND VALUE ADDITION IN HORTICULTURAL CROPS	HORT. – 6.5	4	7.3	29.2	
3	MUSHROOM PRODUCTION TECHNOLOGY	PL. PATH 6.4	4	8.5	34.0	
4	GREEN HOUSE TECHNOLOGY	HORT 6.6	4	7.8	31.2	
5	VERMICOMPOST	AGRON 6.9	4	8.5	34.0	
6	EDUCATIONAL TOUR		-	S		
Medi	ium of Instruction ENGLISH	TOTAL:	20		159.2	G.P.A.: 7.96

Summary of Student's Performance

Year	Semester	Credit Hours	Credit Points	G.P.A.	O.G.P.A.
	FIRST	19	132.1	6.95	6.95
1	SECOND	20	128.4	6.42	6.68
	THIRD	18	133.9	7.44	6.92
1	FOURTH	18	129.6	7.20	6.99
	FIFTH	17	127.9	7.52	7.09
III	SIXTH	20	159.2	7.96	7.24
	TOTAL	112	811.1	The same	7.24

Absent

Withdrawn Incomplete Repeated

Satisfactory Unsatisfactory

Non Credit Course

RESULT

Ab

W

@

PASS

PERCENTAGE

72.40%

CLASS

FIRST CLASS

First Class with Distinction:

7.50 & Above

First Class

6.50 to 7.49

Second Class

6.00 to 6.49

Pass Class

4.50 to 5.99

Date: 20/06/2017

Fees: ₹ 50/-

CHECKED BY